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A1 |Katharina 21 10 3 4 24 14| 13 6 1 71 .14 13| 65 4 4lja ja ja
A2 |Lambertus 20 11 2 522 16 13 5 1 7114 12| 64 4 4lja ja ja
A3 |Bligelkamp 18 7 4 5| 221 12 8 5 6 8. 14 13| 61 3 4lja ja ja
A4 [Rheinsbergr. 18 8 4 4| 2221 10 8 4 6 814 12| 58 3 4lja ja ia
A5 |Benedikt 17 3 3 7|20 10 6 7 4 5[40 12 &2 2 2|nein  [nein  {nein
ABG [Hildegardis 17 3 3 7100200 10 6 7 4 5{n:10] 12| 52 2 2|nein  |pein  {nein
B2 |Gerburgis 13 2 9 71022 9f 10 3 5 717161 10| 56 3 4lja ja JE!
B3 |Johann 14 1 9 7] 23 8 10 3 5 7{::18] 10| 66 3 4ija ja ja
H1 |Flothfeld 15 4 5 720 M 71 10 6 3w3] 13| 57 2 3lnein |ja nein
H2 |Janusz-Korzeak 23 8 2 725 15] 13 7 3 474861 11| 67 3 4lja ja ja
H3 |Tabaluga 17 3 3 3{++20 6 7 7 2 Bl240] 13| 48 2 2inein  |nein |nein
H4 |Dionysius 18 4 7 10{:22261 14 9 3 1 2| 5 54 3 2Ja nein {nein
L1 |Elisabeth 16 7 4 1157220 8 9 5 2 3 8| 47 3 3lja ja ja
L4 |[Stephanus 14 5 4 45018 9 8 7 1 3 101 46 3 1ija nein  |nein
L5 |Tallinghoff 14 3 5 819518 11 13 5 Dl 12 171 60 3 3lja ja ja
L6 |Waldorf 25| 10 3 2100281 12y 15 M 0 4 15| 70 4 4ija ja ja
NK1 |Mauritius 15 3 5 2|20 5 5 2 6 3|0 5 41 4 2|ja nein |nein
NK2 |Kinderheilstat 14 3 8| 15|.:.22] 18] 13 8 1 41 12| 66 3 4|ja ja ja
NK3 |Naturkindergg 14 3 8| 15|=s22| 18 13 7 1 41 11 65 3 4lja ja ja
N2 |Magdalenen 17 41 10 4| 527 8 12 3 2 0f: 3| 52 4 3lja ja ja
N3 |ev. Marien 13 5 9 3| 22 8l 10 3 3 8| - 9| 52 3 3|ja ja ja
N4 [Baumberger Strolq 17 14 2 2|.549 16 9 8 0 5| 13} 57 3 2Ja nein |nein
02 |Arche Noah 19 5 5 424 9 4 4 7 4] 8 52 3 3lja ja ja
04 |Regenbogen 7 1 3 31410 4 1 3 2 4= 7 24 1 Olnein [nein |nein
R1 |Nikolaus Darf 9 1 8 2015 3 1 4 2 8| 101 31 1 Olnein |nein |nein
R2 [Nikolaus Holt| 9 1 8 2{15 3 1 4 2 1 10 31 1 O|nein [nein |nein
R3 |Fabian + Seb 9 1 6 2t 18 3 1 4 2 6| 10 31 1 Olnein [nein |nein
R4 |Fidus 10 3 7 1070047 4 6 2 6 5] 7| 40 2 3lnein |ja nein
51 1Laurentius 15 7 3 Ti=18] 14 6 7 4 7l 14| 56 1 2|nein [nein |nein
52 |Erlengrund 25 M 1 71«28 18] 15 10 1 Bl 18] 78 4 4lja ja ia
S3 |Langeland 191 12 2 21 2 14 9 13 4 2| 15] 63 3 4lja ja ja
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